



(1)  $C_1$  と  $l$  の接点を  $A$ ,  $C_2$  と  $l$  の接点を  $B$  とする  
 $C_1$  は  $y = x^2$

$A(d, d^2)$   $B(\beta, \beta^2 - 4\beta)$  とおくと  $\beta > d$

$C_1$  上の  $y = 2x$

$C_2$  上の  $y' = 2x - 4$  であるから

$l$  は  $d$  を使おう

$y = 2d(x - d) + d^2$

$y = 2dx - d^2 \dots ①$

$l$  は  $\beta$  を使おう

$y = (2\beta - 4)(x - \beta) + \beta^2 - 4\beta$

$y = (2\beta - 4)x - \beta^2 \dots ②$

①, ② 両式を比較すると  $2d = 2\beta - 4$   $d^2 = \beta^2$   $\beta > d$  より  $\beta = -d$  であるから

$2d = -2d - 4$

$d = -1$

つまり  $\beta = 1$

接線  $l$  は  $y = -2x - 1$



(2)

$A_1 = A$  であるから

$A(d, d^2)$  より  $A_1(-1, 1)$

$A_2 = B$  であるから

$B(\beta, \beta^2 - 4\beta)$  より  $A_2(1, -3)$

(3) 求める面積は  $S$  である

$$S = \int_{-1}^0 \{x^2 - (-2x - 1)\} dx + \int_0^1 \{x^2 - 4x - (-2x - 1)\} dx$$

$$= \left[ \frac{1}{3}x^3 + x^2 + x \right]_{-1}^0 + \left[ \frac{1}{3}x^3 - x^2 + x \right]_0^1$$

$$= -\left(-\frac{1}{3} + 1 - 1\right) + \left(\frac{1}{3} - 1 + 1\right)$$

$$= \frac{1}{3} + \frac{1}{3}$$

$$= \frac{2}{3}$$

